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On December 31, 2007, Travis Trill Inc. has a machine with a book value of $940,000. The original
 

cost and related accumulated depreciation at this date are as follows.
 

Machine $1,300,000 

Accumulated depreciation 360,000 

Book value $940.000 

Depreciation is computed at $60,000 per year on a straight-line basis. 

Instructions 

Presented below is a set of independent situations. For each independent situation, indicate the journal 

entry to be made to record the transaction. Make sure that depreciation entries are made to update the 

book value of the machine prior to its disposal. 

(a) A fire completely destroys the machine on August 31, 2008. An insurance settlement of $430.000 

was received for this casualty. Assume the settlement was received immediately. ( I0 ~) 

(b) .On July 31,2008, the company donated this rnach~ne to the Mountain King City Council. The fair 

market value of the machine at the time of the donation was estimated to be $1.100,000. (10 ~) 
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Prepare journal entnes for Loll Co. for: 

(a) Accounts receivable in the amount	 of $500,000 were assigned to Vance Finance Co. by Loll as 

security for a loan of $425,000. Vance charged a 3% commission on the accounts; the interest rate 

on the note is 12%. (4 ~) 

(b)	 During the first month, Loll collected $200,000 on assigned accounts after deducting $450 of 

discounts. Loll wrote off a $530 assigned account. (4 ~) 

(c) Loll paid to Vance the amount collected plus one month's interest on the note. (4 ',1--) 
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1.	 ( ) l(il.5I.:0l'i]1t':~1o:ji:M!lil:iG 70% zl~Mj!jm~j!j~'i% J'l I&JJ!. ' 15% m::XFl J&~ , 10% m:fij:j;:F1 J&fJ!, , 

93 5% JllJml$l~:fij::XFl!lS:jtj1Ul' fiUr=-F1 ' 12.9F1 ' liFi zM<~7tJ3lJm $ 80,000' $ 85,000' $ 90,000 
E'I;\CFI!lS:~b!J&~1tt8M'IIm $ 75,000 ' ;ltCP $ 45,000 :lJ!:eCFI {)1z$f!~~1:. ' $ 30,000 :lJ!:EI3-FI 
{)1Z~~iJi1:. ' jjIJ0l'i]-=m)1b!J&IjJj:l~J&mz5tmlm (I) $ 65,750 (2) $ 98,500 0) $ 110,000 
(4) $lI6,000 

2. ( ) 1:.1X0l'i]~ifji;tJ\~{,j\~m 2 ' 2007 .ijC~m~J&Am $ 100,000 ' juu~'~m $ 50,000 0 fflH 2008 
.ijC~$f!~J&Am $ 150,000 ' lllJ 2008 .ijC~Hirrif~.fIj~m ( 1) $ 25,000 (2) $ 35,000 (3) $ 50,000 
(4) $60,000 

3.	 ( ) t3~t0l'i]W:1:.iJi-.1JjiiiJi£ 25,OOO@J 'Hi~1\Wt.ll:j( $ 700,000' 0l'i]1ff~a3t.ll:ji¥~M1$m 20% ' 
§m1!ffRm$30' jjlj§mfiX*m (1) $18.4 (2) $240) $24.4 (4) $2 

4 ( ) "i:ii0l'i]~Ji1l A.&B~,l"c ' ;ltl\[{lLiI~~~7tJ3lJm $ 10.& $ 5 ' A~,l"caJ'll.{M~ 10 @m~/J\~ , 
B~,l"caJ'll.{lLm 4 @Im~/J\~ , iit0l'i]{jHJ 100 @m~H~OJ{Jii~m • 1It9i- BiJi,l"caJ'll.{1L1I.tm 2 
0ff~~~~'®~~:MOO~300ffOJ*~m,iit0l'i]W:~ft*~iI~~~,m~Ji1lA.&B~~ 
'J;>J'Il.{lL (I) 2 l'/l.{lL A.& 30 J'Il.{lL B (2) 4l'j[{1L A.& 15 J'Il.{lL B (3) 6 l'/l.{1L A.& 20 J'Il.{lL B (4) 10 
l'/l.flL A.&6 J'Il.{lL B 0 

5.	 ( ) Y:{t0l'i]W:ll\IJii~Ui ' fiX* $ 200,000 ' i!iiim.ijC~N 1O.ijC , ~7i{i1l ' jt,R@I~ititl:tiTl'i ' iia;tVilia 
.ijC1fltt1JofJ!,~ff~fiX* $ 40,000 '1fm~!ifH$m 14% ,jjlj~~~Ui0l'i]a.ijCitl1JD~~j!j~J&Am ( 1) 
$ 88,000 (2) $ 68,000 (3) $ 48,000 (4) $ 28,000 • 

6.	 ( ) :lt~!lD~!lF!Tf{lom ' im@IUlii;;tiTtiallmtJoJ.ffitiTtiii;; , fl:&JtIlt.ll:j(1f~1if{i!i~~wm ( 1) i'JlfJ!, 
fi1l/lil{~ (2) pq$¥~!ifH$/lil{!\; (3) @]!&JtIlI'b~~m (4) i'ilHf{iiJ~W • 

7. ( ) m~Jf!Ji*HiJJ1RmZl'li1i1:;E:tt.Jj1,~ , 1'f~1fOJfj~~lllCHIJOlJ~-1frt~~.*Hi;i:i:zfi~mm' 

( 1) /lil{~a{Ml!*~!ifH$ (2) 1&J[OJ*~ZJ&@]JtIl~~0) miilif"J$¥~!ifH$ (4) mi%a{~z&:, 

Jli*MI$' 
8.	 ( ) ~0l'i]a.ijCftmW-:M 1,000,000 fil.{lL , Ml~il!!nll\lJ.I: 10,000 J'Il.{lL ' a::xnJliljfiX* $ 160 ' a¥{1Lt<"f 

~JjlZ*m (1) $ 3.2 (2) $ 6.4 (3) $ 5 (4) ~ii;;~tJJ • 
9.	 ( ) 'i%~ff~J&Am $ 400,000 ' J9:~;~!'Jn;m 24 ' J9:j(¥~~*m 36% 'JlrJ~~~.fljm (1) $ 144,000 

(2) $ 120,000 (3) $ 80,000 (4) $ 60,000 
10.	 ( ) Gtf0l'i]m-@I~~:lt~ , ;ltWitJotBt7t0l'i]z~,\"c~Ji@~f"Jltikl1JoI9i- ' OJrJaJ'll.{lL $ ·150 

zfRm@Ifit:I:J1!f ' mriAlftm§ft5@IfiW-:M $ 30 ' ]][mAI $ 20 ' ~!WJ~Ji1l'!tm $ 15 ' [j!lJ)£~Ji1l. 

m $ 25 ' §fluf;\jljJlilJ~j£~g • ;;js:~m$m 25% 'iitJotBtzm~m 40% 'llljii1JotBt7t0l'i]Jli{~fj~* 

~zn"1Jfmm (1) $50 (2) $650) $90 (4) $150 

=.AA Companyproduces a toy in a two-stage: molding and finishing operation. The company USes the 
weighted-average method of process costing, During June, the following datawere recordedfor the second department 
of Finishing Department 

Unitsof beginning inventory 800 
Percentage completion of beginning units 65% 
UnitsTransferred-in during current period 5,800 
Units completed 4,400 
Units in ending inventory 1,000 
Percentagecompletion of ending units 85% 
Total costs added during current period: 

[';t~ct materials $86,400 
Conversion costs 61,374 

Work in process, beginning: 
Transferred-in costs 15,600 
Direct materials o 
Conversion costs 5,616 

Cost of units transferred induring current period 116,400 

Conversion costs are added evenly during the process. Direct material costs are added when production is 80%
 
complete. The inspection point is at the70%stage of production. Normal spoilage is 10% of all good units thatpass
 
Inspection. Spoiled units are disposed of at zero net disposal value.
 
Require: (1) Assign these costs to units completed and transferred out (2) to abnormal spoilage (3) to units
 

in ending work in process. (18%) ...,-----,.,,--=----. 

mailto:im@IUlii;;tiTtiallmtJoJ.ffitiTtiii


=. . BB Inc. used the standard costing system. The following infonnation pertain to 2007 of BB. 
Jalluary February 

Unitdata 
Beginning inventory o 100 
Production 800 1,300 
Sales 700 1,000 
Variable costs 

Manufacturing cost per unit produced 80 80 
Operating cost per unit $30 $30 

Fixed cost 
Manufacturing cos,", $40,000 $40,000 
Operating costs $14,000 $14,000 

The selling price per unit is $300. The budgeted level of production used to calculate the budgeted fixed 
manufacturing cost per unit is 1,000 units. There are no price, efficiency, or spending variances. Any 
production-volume variance is written off to cost of goods sold in the month in which it occurs. 
Required: Prepare income statements for BB in January end Februaryof2007 under (a) variable costing (b) 
absorotion costing. (12%,). 

\lD'Logan Company manufactures one main producl and two by-products, A and 13. 

For April. the following data are available: 

Main By-Product 

Product A B Total 

Sales . $ 75,000 $ 6,000 $ 3,500 $ 84,500 

Manufacturing cost after separation . $ 11,500 $ 1.100 $ 900 $ 13,500 

Marketing and administrative expenses .. 6,000 750 550 7,300 

Manufacturing cost before split-off. 37,500 

Profit allowed for A and B is 15% and 129(" respectively. 

Required: 

Calculate manufacturing cost before separation [or by-products A and B, using the 

market value (reversal cost) method. (10%)

* 1t i1.;t : R -I- ~ l!l:.U~ II-J $;f. , il~Ill!l it.)f. tI. ~.fft i1i it'U!l e 



1i. ~ Puray Corporation manufactures a product with the following standard costs: 

Direct materials-20yards at $ 1.35 per yard	 $ 27 

Direct labor-4hours at $ 9 per hour	 36 

Factory overhead - 4 direct labor hours at $ 7.50 per hour; 

ratio of variable to fixed factory overhead is 2: I 30 

Total standard cost per unit of output $ 93 

Standards are bascd on normal monthly capacity of 2,400 direct labor hours. The 

following information pertains 10 July: 

Units produced in July "...... 500 

Direct materials purchased - 18,000 yards at $ 1.38 per yard... $ 24,840 

Direct materials used ­ 9,500 yards 

Direct labor~ 2, I 00 hours at $ 9.15 per hour. , ..... 19,215 

Actual factory overhead . . ... 16,650 

Required: 

( 1) Compute the variable factory overhead rate per direct labor hour and the total 

fixed factory overhead based on normal monthly capacity. (10%) 

(2)	 Compute the following variances and indicate whether they are favorable nr 

unfavorable: 

(a)	 Materials purchase price and quantitLvariances~1 0% ) 

( b)	 Labor rate and efficiency variances (10%) 

(c)	 Factory overhead controllable and volume variances (10%)
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